IEHRIRR: ShERS EHAARS: 002191 AEHRE: 2019-020

A ERFARBERLT

KT BRI 3 SHTE A B AR T B2
FEAF REFREERBAREASTNERE. HEHNTE, BARRILH.
RFEFRRE KR

BNz ER A A R AR (BUR RN 7 8 S5 8™ T 2018 4 8
H 17T HAIFRIZE fm#E 2 2018 455 )\ . T 2018 42 9 A 3 H T 2018
A RN R OR 2 s UG T O T [RIEER 7 Ah 2 A AR I TRER ) (%
JG) .

B 2019 4 3 H 5 H, AURIBI I A7 S 3 PR i, (e ) 7 5 SE it 56 B2
HRNBFWETERT 2019 4 3 6 HHIET GEFI#R) « (PEIEFHR)  (E
WESRDY « GIEZRH#D) LR E#IZE RN (www.cninfo.com.cn) [ (5T [AIE
JC A7 S0 R e v B ] ) 7 S S e FE T A )

BEANEH, AR BB CAE T EESR S04 5 A RS A =Ry A
A IPER SRR Tk, IR [ D FE A Y 8 e R B AR AR B IR DL a0

— [BIGIRAR R SEHE 1B L

] CAE T ENEZR B0 45 5 A BR 5TAE A RN o3 A = F L T et 18l e & H
M5 AR B W 0 73 et 2 A B A S T ) 2 o SEZ it ST B O 2018 4 3 H 5 H %2 2019
F3H6H, #E 2019 F 3 5 H, AKX St IR fa g, [B15 S5k
ise b, AT R JE PR &S ERfy 29,963,932 B, A F] H AT AR
2.0045%, =N 8.74 JuIk, BAKKZEN N 6.46 TuI, HIZEEA
230,291,282.05 7t (525 HHD

AR T8 53 kg 28 AR A S TSt 17540045 2 =) 28 T Jm 2 4 2018 4R\
KW B 2018 4E 58 = IR I IEAR R 2 B UGB I ) (O F [ 70 4 25 A AL
MTZEY GAE) REEER.

AR VR[5 D 5 4 SRR R 8 W) VA B, VA ORI B0 R T4 T A =

R R 2 1 5 PR B I AR Bl 2 1 oLk 2 it



P gt e A AR it Fi b S (BT 8 0 A e I AR IBA S TR A R U 55
WA 15055 JEAT RE /055 75 T AR J B RS

= BB FEH
2019 £ 3 H 13 H, 2w &fE F FIESR S0 48 54 IRSTE 2 /1R 2 7] 75

5 I8 e IR B B 29,963,932 M 0] I i A7 Y 4 T 45

I A BB B SR AR L R AR AR

R BB FREHF T & (A

RUIEH e

CARYINIESFAZ Hy L1l 23 W] By

B SEREAR N ) SEAHSVERE . ATBOERL, BT E . IEME S A SR ELE

= BAREIELR

A IR 18] W B A A 56 B R

1,464,870,450 1%, HEAREHUIE:

O E A A B 1,494,834,382 Ik AR Bh A

A KB RT RIRZ B 5
4285 — —
et diE (B Et 451 et g () E 3]
PR 2 vt 88 192,584,569 12.88% 192,584,569 13.15%
76 BR B2 vt e 1,302,249,813 87.12% 1,272,285,881  86.85%
Jeyi N 1,494,834,382 100.00% 1,464,870,450 100.00%

M. BHAREREER
) 2018 £ 55 =R I B R 2 B DR T 2 AE A IR B 2 ] A i A
o B [ Y A A I, A R AE A IR AE B N BB (AR EAE) S

AR ERRFH

R A

R R 2 1 5 PR B I AR Bl 2 1

RN 52 5 AR AT BR 22w
EHER

—O— N =H1+HH




